1 2	J. Curtis Edmondson (CASB # 236105) Law Offices of J. Curtis Edmondson Venture Commerce Center							
3	3699 NW John Olsen Place Hillsboro, OR 97124							
3	Phone: 503-336-3749							
4	Fax: 503-482-7418 Email: jcedmondson@edmolaw.com							
5								
6	Robert Robinson (CASB # 131461) Law Office of Robert S. Robinson 2400 Camino Ramon Ste 185							
7	San Ramon, CA 94583 Phone: 925-830-2702							
9	Fax: 925-830-2104 Email: rob@robrobinsonlaw.com							
10	Attorneys for Defendant JOHN DOE IP add	dress 76.126.99.126						
11								
12	IN THE UNITED STATES DISTRICT COURT							
13	FOR THE NORTHER	N DISTRICT OF CALIFORNIA						
14 15	MALIBU MEDIA, LLC,) Case No.: 3:15-cv-04441-WHA						
16	Plaintiff,)) SUMMARY RE ORDER FOR ATTORNEY) FEES AND COSTS (DOWT 74 and 70)						
17	vs.) FEES AND COSTS (DCKT 74 and 79)						
18)						
19	JOHN DOE subscriber assigned IP address 76.126.99.126,) Hon. William Alsup) Hearing Date: N/A						
20	Defendant.) Hearing Time: N/A)						
		ý)						
22))						
23	and related cross actions)						
24)						
25								
26								

Page 1 Summary re Fees and Costs

SUMMARY RE FEES AND COSTS

This is a summary of the fees and costs pursuant to this Court's order. (Dckts 74, issued on 11/08/2016, and 79, issued on 11/10/2016).

The basis for the hourly rates is the *Laffey Matrix* for 2015-2016 (Ex. 1). Counsel's actual fees on this case are significantly below market rate, with the right to recovery any attorney fees if awarded.

The total amount requested is: \$ 9,246.94, as itemized below:

Attorney J. Curtis Edmondson	10.8 hrs @ \$ 455.00/hr.	\$ 4,914.00
Attorney Robert Robinson	7.4 hrs @ \$530.00/hr.	\$ 3,922.00
Legal Assistant Micki Satterlund	2.3 hrs @ \$154.00/hr.	\$ 354.20
Allowable Costs		\$ 56.74
Total		\$ 9,246.94

The breakdown is shown below as Tables 1 and 2, and per declaration of counsel.

TABLE 1 – FEES

Date	TimeKeeper	Description	Hours	Rate	Fee	
9/8/2016	MS	Printed Motion (Motion with Exhibits, 15 pages)	0.3	\$154.00	\$ 46.20	
9/8/2016	JCE	Review Motion for an order on Comcast [Dckt 58]. Docket return date. Review current law on FRCP 45 in view of FRCP 26 proportionality rule.	2.4	\$455.00	\$1,092.00	
9/15/2016	JCE	Draft Opposition to the Motion for an order on Comcast [Dckt 58].	2.8	\$455.00	\$1,274.00	

			Prepared the Proof				
1	9/19/2016	MS	of Service, Dckt 60	0.1	\$154.00	\$	15.40
2			Proofread and				
			Copyedited				
3			Response (Motion,				
4			Exhibits, Proof of				
1	9/19/2016	MS	Service) to Dckt 58	0.7	¢154.00	Φ	107.80
5	9/19/2010	IVIS	(40 pages) Review and Finalize	0.7	\$154.00	\$	107.80
6			Opposition to the				
0	9/19/2016	JCE	Motion for an order	1.8	Φ477 OO	\$	819.00
7			on Comcast [Dckt		\$455.00		
			58]				
8			Review final				
9	9/20/2016	JCE	opposition to the	0.5	¢455.00	\$	227.50
			Motion of an order on Comcast		\$455.00		
10			Filed Documents				
11			with U.S. District				
			Court California				
12			Northern District				
13	9/20/2016	MS	(San Francisco)	0.3	\$154.00	\$	46.20
			Printed Reply, Dckt				
14	9/29/2016	MS	61 (5 pages)	0.1	\$154.00	\$	15.40
15			Telephone				
	10/10/2016	RSR/JCE	Conference w/ JCE re: second subpoena	0.8	\$530.00		
16			to Comcast		Ψ230.00	\$	424.00
17			Prepared the Proof				
= '	10/10/2016	MS	of Service, Dckt 69	0.1	\$154.00	\$	15.40
18			Proofread and				
19			Copyedited				
10			Objections				
20			(Objections, Proof of				
21	10/10/2016	MS	Service) to Dckt 61 (4 pages)	0.2	\$154.00	\$	30.80
< 1	10/10/2010	VIO	Filed Documents	U.Z	φ134.00	Ф	30.80
22			with U.S. District				
			Court California				
23			Northern District				
24	10/11/2016	MS	(San Francisco)	0.1	\$154.00	\$	15.40

25

26

1	10/12/2016	RSR	Prepare for 10/13 hearing on Plaintiff's motion for second subpoena to Comcast by review of all moving and opposition papers, review of authorities,\ review of oral argument outline of Tashiro and other cases, and preparation of oral argument outline	2	\$530.00	\$1,060.00
9 0	10/13/2016	JCE/RSR	Early morning telephone conference regarding hearing on Comcast Subpoena with RSR	0.7	\$455.00	\$ 318.50
2 3	10/13/2016	RSR	Attend Hearing at ND CAL re: Comcast Subpoena. Prepare for and make oral argument.	3.5	\$530.00	\$1,855.00
5	10/13/2016	JCE/RSR	Post hearing call re: oral argument re: Second Comcast Subpoena.	0.5	\$455.00	\$ 227.50
7	10/13/2016	MS	Printed Minute Entry	0.1	\$154.00	\$ 15.40
8 9 0	10/14/2016	RSR	Emails with JCE re: proposed revisions to second Comcast subpoena including changes to proposed subpoena	0.3	\$530.00	\$ 159.00
2 3 4	10/16/2016	RSR/JCE	Telephone conference with co- counsel re: second subpoena to Comcast	0.6	\$530.00	\$ 318.00
5	10/16/2016	RSR	Analyze B. Erlbaum's proposed changes to joint order	0.2	\$530.00	\$ 106.00

Prepare Defendant's 1 Status Report re: 10/16/2016 **JCE** 2.1 Subpoena on \$455.00 2 \$ 955.50 Comcast 3 10/28/2016 MS Printed Order 0.1 \$154.00 15.40 \$ 4 MS Printed Order 0.1 \$154.00 \$ 15.40 11/8/2016 5 11/14/2016 MS Printed Order \$154.00 \$ 0.1 15.40 6

Total: \$ 9,190.20

TABLE 2 – COSTS

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

Date	Timekeeper	Description	Quantity	Rate		Total	
		Copies of 3 sets of Dckts 59 & 60					
9/20/2016	MS	(Response)	120	\$	0.20	\$	24.00
		Sent packets by first					
		class mail to Brian					
		Heit/Brenna Erlbaum,					
		Henrik Mosesian					
		Mosesi, and John					
9/20/2016	MS	Seiver	3	\$	2.41	\$	7.23
		Copies of 1 set of					
		conformed of Dckts					
9/20/2016	MS	59 & 60 (Response)	40	\$	0.20	\$	8.00
		Sent packet by					
		Priority Mail to Hon.					
9/20/2016	MS	Judge William Alsup	1	\$	6.45	\$	6.45
		Copies of 3 sets of					
		Dckts 68 & 69					
10/11/2016	MS	(Objections)	12	\$	0.20	\$	2.40
		Sent packets by first					
		class mail to Henrik					
		Mosesian					
		Mosesi/Brenna					
		Erlbaum, Brian Heit,					
10/11/2016	MS	and Robert Robinson	3	\$	0.47	\$	1.41
		Copies of 1 set of					
		conformed Dckts 68					
10/11/2016	MS	& 69 (Objections)	4	\$	0.20	\$	0.80
		Sent packet by					
		Priority Mail to Hon.					
10/11/2016	MS	Judge William Alsup	1	\$	6.45	\$	6.45

Total: \$56.74

Respectfully submitted, Dated: November 17, 2016 /s/ J. Curtis Edmondson J. Curtis Edmondson (CASB # 236105) Law Offices of J. Curtis Edmondson Venture Commerce Center 3699 NW John Olsen Place Hillsboro, OR 97124 Phone: 503-336-3749 Fax: 503-482-7418 Email: jcedmondson@edmolaw.com

EXHIBIT 1

LAFFEY'S USAO ATTORNEY'S FEES MATRIX – 2015 – 2016

USAO ATTORNEY'S FEES MATRIX – 2015 – 2016

Revised Methodology starting with 2015-2016 Year

Years (Hourly Rate for June 1 – May 31, based on change in PPI-OL since January 2011)

Experience	2015-16
31+ years	568
21-30 years	530
16-20 years	504
11-15 years	455
8-10 years	386
6-7 years	332
4-5 years	325
2-3 years	315
Less than 2 years	284
Paralegals & Law Clerks	154

Explanatory Notes

- 1. This matrix of hourly rates for attorneys of varying experience levels and paralegals/law clerks has been prepared by the Civil Division of the United States Attorney's Office for the District of Columbia (USAO) to evaluate requests for attorney's fees in civil cases in District of Columbia courts. The matrix is intended for use in cases in which a feeshifting statute permits the prevailing party to recover "reasonable" attorney's fees. *See*, *e.g.*, 42 U.S.C. § 2000e-5(k) (Title VII of the 1964 Civil Rights Act); 5 U.S.C. § 552(a)(4)(E) (Freedom of Information Act); 28 U.S.C. § 2412(b) (Equal Access to Justice Act). The matrix has not been adopted by the Department of Justice generally for use outside the District of Columbia, or by other Department of Justice components, or in other kinds of cases. The matrix does **not** apply to cases in which the hourly rate is limited by statute. *See* 28 U.S.C. § 2412(d).
- 2. A "reasonable fee" is a fee that is sufficient to attract an adequate supply of capable counsel for meritorious cases. See, e.g., Perdue v. Kenny A. ex rel. Winn, 559 U.S. 542, 552 (2010). Consistent with that definition, the hourly rates in the above matrix were calculated from average hourly rates reported in 2011 survey data for the D.C. metropolitan area, which rates were adjusted for inflation with the Producer Price Index-Office of Lawyers (PPI-OL) index. The survey data comes from ALM Legal Intelligence's 2010 & 2011 Survey of Law Firm Economics. The PPI-OL index is available at www.bls.gov/ppi/#data. On that page, under "PPI Databases," and "Industry Data (Producer Price Index PPI)," select either "one screen" or "multiple screen" and in the resulting window use "industry code" 541110 for "Offices of Lawyers." The average hourly rates from the 2011 survey data are multiplied by the PPI-OL index for May in the year of the update, divided by 176.6, which is the PPI-OL index for January 2011, the month of the survey data, and then rounding to the nearest whole dollar (up if remainder is 50¢ or more).
- 3. The PPI-OL index has been adopted as the inflator for hourly rates because it better reflects the mix of legal services that law firms collectively offer, as opposed to the legal services that typical consumers use, which is what the CPI-Legal Services index measures. Although it is a national index, and not a local one, *cf. Elev v. District of Columbia*,

793 F.3d 97, 102 (D.C. Cir. 2015) (noting criticism of national inflation index), the PPI-OL index has historically been generous relative to other possibly applicable inflation indexes, and so its use should eliminate disputes about whether the inflator is sufficient.

- 4. The methodology used to compute the rates in this matrix replaces that used prior to 2015, which started with the matrix of hourly rates developed in *Laffey v. Northwest Airlines, Inc.* 572 F. Supp. 354 (D.D.C. 1983), *aff'd in part, rev'd in part on other grounds*, 746 F.2d 4 (D.C. Cir. 1984), *cert. denied*, 472 U.S. 1021 (1985), and then adjusted those rates based on the Consumer Price Index for All Urban Consumers (CPI-U) for the Washington-Baltimore (DC-MD-VA-WV) area. Because the USAO rates for the years 2014-15 and earlier have been generally accepted as reasonable by courts in the District of Columbia, see note 9 below, the USAO rates for those years will remain the same as previously published on the USAO's public website. That is, the USAO rates for years prior to and including 2014-15 remain based on the prior methodology, *i.e.*, the original *Laffey* Matrix updated by the CPI-U for the Washington-Baltimore area. *See Citizens for Responsibility & Ethics in Washington v. Dep't of Justice*, --- F. Supp. 3d ---, 2015 WL 6529371 (D.D.C. 2015) and Declaration of Dr. Laura A. Malowane filed therein on Sept. 22, 2015 (Civ. Action No. 12-1491, ECF No. 46-1) (confirming that the USAO rates for 2014-15 computed using prior methodology are reasonable).
- 5. Although the USAO will not issue recalculated *Laffey* Matrices for past years using the new methodology, it will not oppose the use of that methodology (if properly applied) to calculate reasonable attorney's fees under applicable feeshifting statutes for periods prior to June 2015, provided that methodology is used consistently to calculate the entire fee amount. Similarly, although the USAO will no longer issue an updated *Laffey* Matrix computed using the prior methodology, it will not oppose the use of the prior methodology (if properly applied) to calculate reasonable attorney's fees under applicable fee-shifting statutes for periods after May 2015, provided that methodology is used consistently to calculate the entire fee amount.
- 6. The various "brackets" in the column headed "Experience" refer to the attorney's years of experience practicing law. Normally, an attorney's experience will be calculated starting from the attorney's graduation from law school. Thus, the "Less than 2 years" bracket is generally applicable to attorneys in their first and second years after graduation from law school, and the "2-3 years" bracket generally becomes applicable on the second anniversary of the attorney's graduation (*i.e.*, at the beginning of the third year following law school). See Laffey 572 F. Supp. at 371. An adjustment may be necessary, however, if the attorney's admission to the bar was significantly delayed or the attorney did not otherwise follow a typical career progression. See, e.g., EPIC v. Dep't of Homeland Sec., 999 F. Supp. 2d 61, 70-71 (D.D.C. 2013) (attorney not admitted to bar compensated at "Paralegals & Law Clerks" rate); EPIC v. Dep't of Homeland Sec., 982 F. Supp. 2d 56, 60-61 (D.D.C. 2013) (same). The various experience levels were selected by relying on the levels in the ALM Legal Intelligence 2011 survey data. Although finer gradations in experience level might yield different estimates of market rates, it is important to have statistically sufficient sample sizes for each experience level. The experience categories in the current USAO Matrix are based on statistically significant sample sizes for each experience level.
- 7. ALM Legal Intelligence's 2011 survey data does not include rates for paralegals and law clerks. Unless and until reliable survey data about actual paralegal/law clerk rates in the D.C. metropolitan area become available, the USAO will compute the hourly rate for Paralegals & Law Clerks using the most recent historical rate from the USAO's former *Laffey* Matrix (*i.e.*, \$150 for 2014-15) updated with the PPI-OL index. The formula is \$150 multiplied by the PPI-OL index for May in the year of the update, divided by 194.3 (the PPI-OL index for May 2014), and then rounding to the nearest whole dollar (up if remainder is 50¢ or more).
- 8. The USAO anticipates periodically revising the above matrix if more recent reliable survey data becomes available, especially data specific to the D.C. market, and in the interim years updating the most recent survey data with the PPI-OL index, or a comparable index for the District of Columbia if such a locality-specific index becomes available.
- 9. Use of an updated *Laffey* Matrix was implicitly endorsed by the Court of Appeals in *Save Our Cumberland Mountains v. Hodel*, 857 F.2d 1516, 1525 (D.C. Cir. 1988) (en banc). The Court of Appeals subsequently stated that parties may rely on the updated *Laffey* Matrix prepared by the USAO as evidence of prevailing market rates for litigation counsel in the Washington, D.C. area. *See Covington v. District of Columbia*, 57 F.3d 1101, 1105 & n.14, 1109 (D.C. Cir. 1995), *cert. denied*, 516 U.S. 1115 (1996). Most lower federal courts in the District of Columbia have relied on the USAO Matrix, rather than the so-called "*Salazar* Matrix" (also known as the "LSI Matrix" or the

"Enhanced Laffey Matrix"), as the "benchmark for reasonable fees" in this jurisdiction. Miller v. Holzmann, 575 F. Supp. 2d 2, 18 n.29 (D.D.C. 2008) (quoting Pleasants v. Ridge, 424 F. Supp. 2d 67, 71 n.2 (D.D.C. 2006)); see, e.g., CREW v. U.S. Dep't of Justice, --- F.Supp.3d ---, 2015 WL 6529371 (D.D.C. 2015); McAllister v. District of Columbia, 21 F. Supp. 3d 94 (D.D.C. 2014); Embassy of Fed. Republic of Nigeria v. Ugwuonye, 297 F.R.D. 4, 15 (D.D.C. 2013); Berke v. Bureau of Prisons, 942 F. Supp. 2d 71, 77 (D.D.C. 2013); Fisher v. Friendship Public Charter School, 880 F. Supp. 2d 149, 154-55 (D.D.C. 2012); Sykes v. District of Columbia, 870 F. Supp. 2d 86, 93-96 (D.D.C. 2012); Heller v. District of Columbia, 832 F. Supp. 2d 32, 40-49 (D.D.C. 2011); Hayes v. D.C. Public Schools, 815 F. Supp. 2d 134, 142-43 (D.D.C. 2011); Queen Anne's Conservation Ass'n v. Dep't of State, 800 F. Supp. 2d 195, 200-01 (D.D.C. 2011); Woodland v. Viacom, Inc., 255 F.R.D. 278, 279-80 (D.D.C. 2008); American Lands Alliance v. Norton, 525 F. Supp. 2d 135, 148-50 (D.D.C. 2007). But see, e.g., Salazar v. District of Columbia, 123 F. Supp. 2d 8, 13-15 (D.D.C. 2000). The USAO contends that the Salazar Matrix is fundamentally flawed, does not use the Salazar Matrix to determine whether fee awards under fee-shifting statutes are reasonable, and will not consent to pay hourly rates calculated with the methodology on which that matrix is based.